
Homework set 1 
Sections 1.1 – 1.3 

p48: 1 – 8  &  p47: 30, 32 

 
 

1. Evaluate: 
a. หߨ െ 2√3ห െ ห√3 െ √2ห 

b. ൤ቀെ ଵ
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2. Simplify: 
a. √64ݔ଺	ඥ9ݕଶݔ଺				 b. ቀ௔

షయ
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3. Rationalize the denominator: 
a. ଶ௫

ଷ√௬
 b. ௫

√௫ିସ
 

 
 
 
 
 
 

4. Perform each operation and simplify: 

a. 
൫௫మାଵ൯ቀ

భ
మ
௫షభ/మቁି௫భ/మሺଶ௫ሻ

ሺ௫మାଵሻమ
 b. െ ଷ௫

√௫ାଶ
൅ ݔ√3 ൅ 2 

 
 
 
 
 
 
 
 
 
 
 
 

5. Rationalize the numerator:   √௫ା√௬
√௫ି√௬

	. 

 
 
 
 



6. Factor completely:  
a. 12ݔଷ െ ଶݔ10 െ ݔb. 2ܾ ݔ12 െ ݕ2ܾ ൅ ݔ3ܿ െ  ݕ3ܿ

 
 
 
 
 
 

7. Solve each equation: 
a. 12ݔଶ െ ݔ9 െ 3 ൌ 0 b. 3ݔଶ െ ݔ5 ൅ 1 ൌ 0 

 
 
 
 
 
 
 
 

8. Find the distance between ሺെ2,4ሻ and ሺ6,8ሻ. 
 
 
 
 
 
For questions 30 & 32, find the value(s) of ݔ that satisfy the expression. 
 

30. ଵ

௫ାଶ
൐ 2 

 
 
 
 
 
 
 
 
 
 
 
 

32. | ௫ାଵ
௫ିଵ

| ൌ 5 


